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Choose The Correct Alternative

1. The number of electrons in the outermost

shell of alkali metals is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DDPBzf3k1D3Z

Al

B.2

C.3

D.7

Answer: A

o Watch Video Solution

2. Alkali earth metals have valency 2.this means
that their position in the Modern periodic

tableis in


https://dl.doubtnut.com/l/_DDPBzf3k1D3Z
https://dl.doubtnut.com/l/_RJV1DXj5Vufg

A. group 2

B. group 16

C. period 2

D. d-block

Answer:

o Watch Video Solution

3. Molecular formula of the chloride of an
element X is XCI. This compound is a solid

having high melting point. Which of the


https://dl.doubtnut.com/l/_RJV1DXj5Vufg
https://dl.doubtnut.com/l/_hJh0Pet3NGeh

following element be present in the same

group as X.

A. Na

B. Mg

C. Al

D. Si

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hJh0Pet3NGeh

4.1n which block of the modern periodic table

are the non-metlas present?

A. s-block

B. p-block

C.d-block

D. f-block

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kNgryGUUCT3b
https://dl.doubtnut.com/l/_XOykhXURu7yv

5. A student was asked to select two elements
in a periodic table . He selects neon and argon
. In both these elements, the number of

electrons in the outermost shell is

A2

B.6

C.7

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XOykhXURu7yv

6. Four students note down the name of two
metals from period 3.

Rita: Sodium and silicon

Nilesh: Magnesium and aluminium

Rohan: Sodium and potassium

Preeti: Sodium and aluminium

Who have correctly noted down the names of

the metals?

A. Rita and Preeti

B. Nilesh and Preeti


https://dl.doubtnut.com/l/_XOykhXURu7yv
https://dl.doubtnut.com/l/_aUJRkBWxhhTB

C. Rita and Rohan

D. Only Preeti

Answer: B

° Watch Video Solution

7.Electron capacity of N shell is

A2

B.8

C.18



https://dl.doubtnut.com/l/_aUJRkBWxhhTB
https://dl.doubtnut.com/l/_GZx8OJ6oyqOj

D. 32

Answer: D

o Watch Video Solution

8. Valency of the elements in the halogen

groupis .

A.one

B. two

C.three


https://dl.doubtnut.com/l/_GZx8OJ6oyqOj
https://dl.doubtnut.com/l/_djIzYL7RsJTS

D. four

Answer: A

o Watch Video Solution

9. The most reactive element in the halogen

group is

A. astetine

B. iodine

C. chlorine


https://dl.doubtnut.com/l/_djIzYL7RsJTS
https://dl.doubtnut.com/l/_tAI2jUNd1lLm

D. fluorine

Answer: D

o Watch Video Solution

10. Halogen which is liquid

temperature is

A. fluorine

B. astetine

C. bromine

at

room


https://dl.doubtnut.com/l/_tAI2jUNd1lLm
https://dl.doubtnut.com/l/_5uk4xE8TV9Jc

D. iodine

Answer: C

o Watch Video Solution

11. The metallic charater of elements

group from top to bottom.

A. increases

B. decreases

C.remains constant


https://dl.doubtnut.com/l/_5uk4xE8TV9Jc
https://dl.doubtnut.com/l/_bucvQxXLjXMh

D. shows indefinite behaviour

Answer: A

° Watch Video Solution

12. Valency of elements in a period from

left to right.

A. increases

B. decreases

C.remains constant


https://dl.doubtnut.com/l/_bucvQxXLjXMh
https://dl.doubtnut.com/l/_T7m1fVIOkw4K

D.increases in the beginning and then

decreases

Answer: D

O Watch Video Solution

13. Which of the following is the lightest inert

gas?

A. Argon

B. Helium


https://dl.doubtnut.com/l/_T7m1fVIOkw4K
https://dl.doubtnut.com/l/_4mRKMgxh3VXO

C. Neon

D. Xenon

Answer: B

O Watch Video Solution

14. An inert gas element placed in period 6 is
used in the treatment of cancer . Identify the

element.

A. Xenon


https://dl.doubtnut.com/l/_4mRKMgxh3VXO
https://dl.doubtnut.com/l/_PDDgL00ZyWQP

B. Radon

C. Argon

D. Krypton

Answer: B

o Watch Video Solution

Complete The Paragraph

1. Select the appropriate options and complete

the following paragraph.


https://dl.doubtnut.com/l/_PDDgL00ZyWQP
https://dl.doubtnut.com/l/_T0wD61IxKBpr

(2, 7, 18, 32, atomic mass, atomic number,
hydrogen, lithium)

In the modern periodic table, all known
elements are listed in increasing order of their

. It start with the lightest elements . The

group and

preiods . The first period contains only

elements while the seventh period contains

elements .

o Watch Video Solution

Name The Following



https://dl.doubtnut.com/l/_T0wD61IxKBpr

1. The period with electrons in the shells K, L

and M

° Watch Video Solution

2. The group with valency zero

° Watch Video Solution

3. The family of non-metals having valency one


https://dl.doubtnut.com/l/_wpNRHpgMk0zu
https://dl.doubtnut.com/l/_zI6kIV9A4dp5
https://dl.doubtnut.com/l/_dZc91F361er8

° Watch Video Solution

4. The family of metals having valency one..

° Watch Video Solution

5. The family of metals having valency two

° Watch Video Solution

6. Name first element of Group 16 to 18


https://dl.doubtnut.com/l/_dZc91F361er8
https://dl.doubtnut.com/l/_BJZdKbHJMNdi
https://dl.doubtnut.com/l/_9YshMGHAkeGM
https://dl.doubtnut.com/l/_QWtZ1m89RFAd

° Watch Video Solution

7. The group 18 element placed in period 3

° Watch Video Solution

8. The element having atomic number 92

° Watch Video Solution

9. The halogen which exists as solid


https://dl.doubtnut.com/l/_QWtZ1m89RFAd
https://dl.doubtnut.com/l/_dLqkd9606jKF
https://dl.doubtnut.com/l/_peFNM2vhVF2W
https://dl.doubtnut.com/l/_pDXJUy9mm33M

° Watch Video Solution

10. The inert gas which contains electrons in K

and L shells only

o Watch Video Solution

11. The alkaline earth metal that reacts with

steam only

° View Text Solution



https://dl.doubtnut.com/l/_pDXJUy9mm33M
https://dl.doubtnut.com/l/_Yk2UNjDuqgWp
https://dl.doubtnut.com/l/_dNQznhO0PBXQ

True Or False

1. In the long form of periodic table, groups 3

to 12 constitute the p-block.

o View Text Solution

2. Atomic radius goes on decreasing while

going from left to right in a period

° Watch Video Solution



https://dl.doubtnut.com/l/_2nW1PV4IbYMO
https://dl.doubtnut.com/l/_jhlMoU6SZIe1
https://dl.doubtnut.com/l/_iDyQpKF6y2nc

3. Smaller the  electropositivity or
electronegativity of the element higher the

reactivity.

° View Text Solution

Odd One Out

1. Find the odd man out.

Lithium,beryllium,boron,Chlorine

° Watch Video Solution



https://dl.doubtnut.com/l/_iDyQpKF6y2nc
https://dl.doubtnut.com/l/_K2blyvG8Ma2y

2. Select the odd man out

Beryllium, magnesium, potassium, calcium

o Watch Video Solution

3. Select the odd man out

Fluorine, helium, neon, argon

o Watch Video Solution



https://dl.doubtnut.com/l/_PAiDpFWfJjKl
https://dl.doubtnut.com/l/_fpDVhWIAmF9O

4. Select the odd man out

Carbon, nitrogen, fluorine, sulphur

o Watch Video Solution

5. Select the odd man out

Lithium, sodium, magnesium, potassium

o Watch Video Solution



https://dl.doubtnut.com/l/_Bs8ZqKxdsJd0
https://dl.doubtnut.com/l/_97t7NjcHFn8R

6. Select the odd man out

Fe, Co, Ni, Al

o Watch Video Solution

7. Select the odd man out

Fluorine, oxygen, bromine, iodine

o Watch Video Solution

Complete The Analogy


https://dl.doubtnut.com/l/_jNTOSQAgBbX2
https://dl.doubtnut.com/l/_xzrBz5FmiDyQ
https://dl.doubtnut.com/l/_pZ8v918IKJAo

1. Gallium oxide: Gay03 :: Gallium chloride:

o Watch Video Solution

2. Molecular formula of beryllium oxide : BeO :

Molecular formula of beryllium chloride

o Watch Video Solution



https://dl.doubtnut.com/l/_pZ8v918IKJAo
https://dl.doubtnut.com/l/_mSdGBIs0QacO

3. Li: Second period : : Al :

o Watch Video Solution

4. Alkali metals : s-Block : : Transition elements

5. Sulphur: : : Calcium: (2, 8, 8, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_gLtq5c6z57Ed
https://dl.doubtnut.com/l/_YJRUwiuPdZDm
https://dl.doubtnut.com/l/_W0PfmnMMZBAZ

6. Valency of potassium atom : one : : Valency

of argon atom :

o Watch Video Solution

Match The Following

1. Rearrange the columns 2 and 3 so as to

match with the column 1.


https://dl.doubtnut.com/l/_W0PfmnMMZBAZ
https://dl.doubtnut.com/l/_duRXwcv6QSqW
https://dl.doubtnut.com/l/_1d6KyUaOKFwi

' Column1 | Column2 | | Column3 |

i. | Triad a. Lightest and 1. Mendeleev
- negatively ‘

- charged ‘
particle in all
theatoms | Lﬂ__
ii. | Octave b.  Concentrated 2.  Thomson
mass and
positive
charge
iii. | Atomic | c. | Average ~of | 3. | Newlands
number the first and
the third
atomic mass

iv. | Period d. | Properties of | 4. | Rutherford
the eighth
element

similar to the

first

v. | Nucleus | e. | Positive 5. | Dobereiner
charge on the
nucleus

vi. | Electron | f. | Sequential 6. | Moseley
change in
molecular
formulae

° View Text Solution



https://dl.doubtnut.com/l/_1d6KyUaOKFwi

2. Match the groups given in Column | with the
corresponding blocks of the periodic table

given in Column II.

Column I 5y ‘Column II
i.  Alkali metals a. | Group 17
G Alkaline earth | b. Group 1

 metals ;
iii. Halogen family | c. | Group 18
iv. Inertgases | Group 2

e

° Watch Video Solution

3. Match the elements given in Group 'A" with

their electronic configuration given in Group


https://dl.doubtnut.com/l/_6tDTHliKUYng
https://dl.doubtnut.com/l/_QJYnJZO3HgqE

'B'.

| Group‘A® | | Group‘B’ |
i. Potassium a. 2,8,1)
ii. Aluminium b (2,8,8,1)
C. (2,8,3)
L d | (2,8,2)

° Watch Video Solution

4. Match the groups given in Column | with

the corresponding block of the periodic table

given in Column II.

( Column I Column 11
"i. | Groups 1 and 2 a. p-block
[ ii. | Groups 3 to 12 b. | d-block
{ c. | f-block
| d. | s-block



https://dl.doubtnut.com/l/_QJYnJZO3HgqE
https://dl.doubtnut.com/l/_I6Rc8zZOvtdU

o Watch Video Solution

Answer The Following

1. Explain Dobereiner's triads giving one

example.

° Watch Video Solution

2. In Dobereiner's triads Li, Na, K, the atomic

masses of lithium and potassium are 6.9 and


https://dl.doubtnut.com/l/_I6Rc8zZOvtdU
https://dl.doubtnut.com/l/_w5EK6FXSNFXw
https://dl.doubtnut.com/l/_9LD3bEHxOjH3

39.1 respectively, then what will be the atomic

mass of sodium?

° Watch Video Solution

3. State the drawback of Dobereiner's triads:

° Watch Video Solution

4. Chlorine, bromine and iodine form a

Dobereiner's triad . Chlorine has atomic mass


https://dl.doubtnut.com/l/_9LD3bEHxOjH3
https://dl.doubtnut.com/l/_KnkRXvoh6ln1
https://dl.doubtnut.com/l/_ldP7TvBqyMBZ

35.5 and iodine has atomic mass 126.9

the atomic mass of bromine.

. Predict

° Watch Video Solution

5. State the laws/ Define

Newlands's Law of octaves:

o Watch Video Solution

6. Explain Newlands' octaves.

o View Text Solution



https://dl.doubtnut.com/l/_ldP7TvBqyMBZ
https://dl.doubtnut.com/l/_slRAUzZj5Bsh
https://dl.doubtnut.com/l/_BDLgugFGpy5J

7. What were the demerits of Newlands'

octaves?

° View Text Solution

8. What is MendeleeV's Periodic law?

° Watch Video Solution



https://dl.doubtnut.com/l/_BDLgugFGpy5J
https://dl.doubtnut.com/l/_lzUg2KmxUkKe
https://dl.doubtnut.com/l/_qtvmBbyoFIIi

9. Write a short note on:

Mendeleev's periodic law

o Watch Video Solution

10. State the merits of Mendeleev's periodic

table.

o Watch Video Solution



https://dl.doubtnut.com/l/_pc1aZXfLSlNU
https://dl.doubtnut.com/l/_pRF5fHpm95s7

11. What are the demerits of Mendeleev's

periodic table?

o Watch Video Solution

12 What is the difference between
Mendeleev's periodic law and modern periodic

law?

o Watch Video Solution



https://dl.doubtnut.com/l/_LBVqIkveyvcJ
https://dl.doubtnut.com/l/_nfmHgA7jCMxr

13. State modern periodic law.

o Watch Video Solution

14. Write a short note on:

Structure of the Modern periodic table

o Watch Video Solution

15. Give four examples of each of the following:

i. Nonmetals



https://dl.doubtnut.com/l/_yu1g9zbZ1Wze
https://dl.doubtnut.com/l/_MDCj2Fk8NKtp
https://dl.doubtnut.com/l/_n5MSKRtB0QBd

o Watch Video Solution

16. Give four examples of each of the following:

s-Block elements

o Watch Video Solution

17. Give four examples of each of the following:

Alkali metals (or group 1 elements)

o Watch Video Solution



https://dl.doubtnut.com/l/_n5MSKRtB0QBd
https://dl.doubtnut.com/l/_6aywSDL0ximt
https://dl.doubtnut.com/l/_Wt0mf2LYnn0n
https://dl.doubtnut.com/l/_wSqUHcRcQREM

18. Give four examples of each of the following:

Alkaline earth metals (or group 2 elements)

° Watch Video Solution

19. Give four examples of each of the following:

p-Block elements

o Watch Video Solution



https://dl.doubtnut.com/l/_wSqUHcRcQREM
https://dl.doubtnut.com/l/_ZFx8ZYzDNoXW

20. Give four examples of each of the
following:

d-block elements

o Watch Video Solution

21. Give four examples of each of the following:

Halogen family

o Watch Video Solution



https://dl.doubtnut.com/l/_7tNI8cx0jyfA
https://dl.doubtnut.com/l/_wKkSlbYSJvOl

22. Give four examples of each of the
following:

Period 2 elements

o Watch Video Solution

23. Give four examples of each of the
following:

Period 3 elements

o Watch Video Solution



https://dl.doubtnut.com/l/_ThLetVKWViEk
https://dl.doubtnut.com/l/_OgdxZioKV602
https://dl.doubtnut.com/l/_5x3jb3feAw44

24. Write a short note on:
Position of isotpes in the Mendeleev's and the

Modern periodic table

o Watch Video Solution

25. What are the periodic trends in the

modern periodic table?

° View Text Solution



https://dl.doubtnut.com/l/_5x3jb3feAw44
https://dl.doubtnut.com/l/_OymPIOMUdVMl

26. State the laws/ Define

Atomic radius

o Watch Video Solution

27. How is the ability to lose or accept

electrons in the valence shell determined?

o View Text Solution



https://dl.doubtnut.com/l/_B6k2q59gq85o
https://dl.doubtnut.com/l/_N0xsNJ3kLUvU

28. What is meant by the term electropositivity

of an element?

o Watch Video Solution

29. How does metallic character vary in a

period and a group?

o View Text Solution



https://dl.doubtnut.com/l/_vsgcDrH9uXQB
https://dl.doubtnut.com/l/_8ejSFGAQa54s

30. The metalloids in the second and third

periods

o Watch Video Solution

31. Non-metals in the third period .

o Watch Video Solution

32. Two elements having valency 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_XS9QLRoskmCu
https://dl.doubtnut.com/l/_MElxP0nWTbnV
https://dl.doubtnut.com/l/_etbZrDbdIWyL

33. What is the cause of non-metallic character

of element?

o Watch Video Solution

34. What is the expected trend in the variation
of non-metallic character of element form left

to right in a period?

o Watch Video Solution



https://dl.doubtnut.com/l/_etbZrDbdIWyL
https://dl.doubtnut.com/l/_0m8BjMthSIBh
https://dl.doubtnut.com/l/_HlVPD1gRUzYx
https://dl.doubtnut.com/l/_g3L3w1WvO9iK

35. What would be the expected trend in the
variation of non-metallic character of elements

down a group?

o Watch Video Solution

36. Answer the following question with respect
to the modern periodic table.
I. Explain the gradation in reactivity of halogen

family.

° View Text Solution



https://dl.doubtnut.com/l/_g3L3w1WvO9iK
https://dl.doubtnut.com/l/_SwdYTDjtAdwJ

37. What are the similarities in properties of

elements in halogen family?

o Watch Video Solution

38. Why are inert gases placed in zero group?

o Watch Video Solution

39. Write a short note on noble gases.

o Watch Video Solution



https://dl.doubtnut.com/l/_fz3UevtbefVM
https://dl.doubtnut.com/l/_6sD5WEWEDwSm
https://dl.doubtnut.com/l/_BR8C4ZqCjbP3

40.The atom having the smallest size.

o Watch Video Solution

41. The atom having the smallest atomic mass .

o Watch Video Solution

42.The most electronegative atom

o Watch Video Solution



https://dl.doubtnut.com/l/_BR8C4ZqCjbP3
https://dl.doubtnut.com/l/_rsAF7wH9iJ98
https://dl.doubtnut.com/l/_ZpXfalzxAlXY
https://dl.doubtnut.com/l/_ieUfX1Ssth38

43. The noble gas with the smallest atomic

radius

o Watch Video Solution

44.The most reactive nonmetal

o Watch Video Solution



https://dl.doubtnut.com/l/_ieUfX1Ssth38
https://dl.doubtnut.com/l/_zck8nlB6jtPJ
https://dl.doubtnut.com/l/_cBDJUUO7uMGN

45. An element has its electronic configuration
as (2,8,2). Now answer the question.

What is the atomic number of this element?

o Watch Video Solution

46. An element has its electronic configuration
as (2,8,2). Now answer the question.

What is the group of this element?

o Watch Video Solution



https://dl.doubtnut.com/l/_BAPfuAlxWC2D
https://dl.doubtnut.com/l/_uo93nDVA9F5o
https://dl.doubtnut.com/l/_wvoNvei55V2B

47. An element has its electronic configuration
as (2,8,2). Now answer the question.

To which period does this element belong?

o Watch Video Solution

48. An element has its electronic configuration
as (2,8,2). Now answer the question.

With which of the following elements would
this element resemble? (Atomic number are
given in the brackets)

N(7), Be(4), Ar(18), CI(17)


https://dl.doubtnut.com/l/_wvoNvei55V2B
https://dl.doubtnut.com/l/_U40nLaYv8NAN

° Watch Video Solution

49. What is the difference between
electropositivity and electronegativity of an

element?

° Watch Video Solution

50. Consider the elements of period 2 in the
modern periodic table. Answer the following

questions with explanation.


https://dl.doubtnut.com/l/_U40nLaYv8NAN
https://dl.doubtnut.com/l/_rQZAdjg7eZ54
https://dl.doubtnut.com/l/_r6r6umdwuxHt

Name the element in which both the shells are

completely filled with electrons.

° Watch Video Solution

51. Consider the elements of period 2 in the
modern periodic table. Answer the following
questions with explanation.

Name the element which has same number of

electrons in the first and second shell.

° Watch Video Solution



https://dl.doubtnut.com/l/_r6r6umdwuxHt
https://dl.doubtnut.com/l/_3e2kSl4ueTE8
https://dl.doubtnut.com/l/_6H2YK4lL2Bu7

52. Consider the elements of period 2 in the
modern periodic table. Answer the following
questions with explanation.

Which is the most electropositive element in

this period?

o View Text Solution

53. Write down the electronic configuration of
the following elements from the given atomic

numbers. Answer the following question with


https://dl.doubtnut.com/l/_6H2YK4lL2Bu7
https://dl.doubtnut.com/l/_9XBZCDhAY37f

explanation.gLi, 14Si, 2He, 11Na, 15P. Which

of these elements belong to period 37

° Watch Video Solution

54. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following questions with
explanation.  {H,; N,y Ca,16 S,4 Be,1g Ar.
Which of these elements belong to the second

group ?

° Watch Video Solution



https://dl.doubtnut.com/l/_9XBZCDhAY37f
https://dl.doubtnut.com/l/_RG0ve31r5Q5B

55. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following questions with
explanation. ;N,; C.,s O,5 B, Al.which is the
the most electronegative element among

these?

o Watch Video Solution

56. Write down the electronic configuration of

the following elements from the given atomic


https://dl.doubtnut.com/l/_RG0ve31r5Q5B
https://dl.doubtnut.com/l/_ol7HyFMpulKQ
https://dl.doubtnut.com/l/_IZjBhTEu9cQX

numbers. Answer the following questions with
explanation. ™ 4Be, 6C, 80, 5B, 13Al.which s

the most electropostive element among these

?

o Watch Video Solution

57. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following questions with

explanation.


https://dl.doubtnut.com/l/_IZjBhTEu9cQX
https://dl.doubtnut.com/l/_L1yAph5plxBr

" 1INa,_15P, 17Cl, 14Si, 12Mg.Which of these

has the largest atom?

° Watch Video Solution

58. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following questions with
explanation. ™ 19K, 3Li, 1INa, 4Be. Which of

these atoms has smallest atomic radius?

° Watch Video Solution



https://dl.doubtnut.com/l/_L1yAph5plxBr
https://dl.doubtnut.com/l/_V734mazR85QL
https://dl.doubtnut.com/l/_t00t0oQsNvhd

59. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following questions with
explanation. " 13Al, 14Si, 11Na, 12Mg, 16S.
Which of the above elements has the highest

metallic character?

o Watch Video Solution

60. Write down the electronic configuration of
the following elements from the given atomic

numbers. Answer the following questions with


https://dl.doubtnut.com/l/_t00t0oQsNvhd
https://dl.doubtnut.com/l/_ClAImhftshiZ

explanation. ™ 6C, 3Li, 9F, 7N, 80. Which of the
above elements has the highest non-metallic

character?

o Watch Video Solution

Give Reasons

1. Give scientific reasons :
The third period contains only eight elements
even though the electorn capacity of the third

shell is 18.



https://dl.doubtnut.com/l/_ClAImhftshiZ
https://dl.doubtnut.com/l/_QMSi4LDEdWAy

o Watch Video Solution

2. Give scientific reasons :
Elements belonging to the same group have

the same valency

° Watch Video Solution

3. Atomic radius goes on decreasing while

going from left to right in a period

o Watch Video Solution



https://dl.doubtnut.com/l/_QMSi4LDEdWAy
https://dl.doubtnut.com/l/_tUzpvAaF9q5j
https://dl.doubtnut.com/l/_oIDFIWyU24ZH

4. Give scientific reasons :

Atomic radius goes on increasing down a

group

o Watch Video Solution

5. Give scientific reasons :
Metallic character goes on decreassing while

going from left to right in a period

o Watch Video Solution



https://dl.doubtnut.com/l/_oIDFIWyU24ZH
https://dl.doubtnut.com/l/_bUc5YD7VcQlN
https://dl.doubtnut.com/l/_Bb33diuyPTrY

Distinguish Between

1. Distinguish between:
Mendeleev's periodic table and Modern

periodic table

° Watch Video Solution

2. Distinguish between:

Metallic character and non-metallic character

o Watch Video Solution



https://dl.doubtnut.com/l/_mbv8GmOe5Nt9
https://dl.doubtnut.com/l/_CMEwekAbNImc

Complete The Given Chart Table

1. Complete the following table.

Triad = Elements  Atomic mass
Lithium (Li) 6.9
A Sodium (Na) —
Potassium (K) 39
| Calcium (Ca) 40.1
B Strontium (Sr) —
| Barium (Ba) 137.3

° Watch Video Solution



https://dl.doubtnut.com/l/_GRuCzsAivUVv

2. Complete the following table.

Atomic  Electronic Type of

Element  'No.  configuration element
Sodium 11 * 281  Metal
Magnesium 12 282 -
- 13 283  Metal
‘Silicon 14 -  Metalloid
Phosphorus 15 285 -
- 16 - Nonmetal
Chlorine ~ 17 287  Nonmetal

° Watch Video Solution

Questions Based On Diagram

1. Draw electronic configuration diagram for:

Potassium


https://dl.doubtnut.com/l/_1iCM9yZlBcaB
https://dl.doubtnut.com/l/_jaIjO1podzGg

° View Text Solution

2. Draw electronic configuration diagram for:

Argon

o Watch Video Solution

3. Find out the number of valence electrons

and valency of the atoms represented in the


https://dl.doubtnut.com/l/_jaIjO1podzGg
https://dl.doubtnut.com/l/_HPwvebbF9Ilt
https://dl.doubtnut.com/l/_dOAbN7WDEUtp

following figures.

° Watch Video Solution

4. Find out the number of valence electrons

and valency of the atoms represented in the


https://dl.doubtnut.com/l/_dOAbN7WDEUtp
https://dl.doubtnut.com/l/_rg1QaDRnEGtf

following figures.

o Watch Video Solution

5. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_rg1QaDRnEGtf
https://dl.doubtnut.com/l/_Uwysoml0i4Zx

A B

Indentify elements A and B.

° Watch Video Solution

6. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_Uwysoml0i4Zx
https://dl.doubtnut.com/l/_ybvuiTI4eJpi

Do these elements belong to the same group

? Justify your answer.

° Watch Video Solution

7. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_ybvuiTI4eJpi
https://dl.doubtnut.com/l/_iwiLk902zanv

A B

Which element is more electropositive ?

Explain with reason.

° View Text Solution

8. Study the following periodic table. A student

has marked two periodic trends incorrectly.


https://dl.doubtnut.com/l/_iwiLk902zanv
https://dl.doubtnut.com/l/_NiaSakUO74cs

Indentify these trends.

i Metal
[ Metalloid By

D Nonmetal Increasing atomic radius

Increasing electropositivity
ing allic ch
Increasing valency

o View Text Solution

9. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_NiaSakUO74cs
https://dl.doubtnut.com/l/_UZDDKXnV7rM9

He
1 1 5
Li Be B C N /6) F Ne
21 2,1 |22 23 | 2,4 | 2,5 | 26 | 2,7 | 2.8
Na | Mg Al | si P S Cl Ar
312,81]238.2 2.8,312,8,4(2,8,5]2,8,6/2,8,7/28.,8
K Ca
4 p,8.8 12,882
Sr

6
1
Ra 2
3
4

Potassium atom

Write the atomic numbers of first two

elements in the second group.

° Watch Video Solution

10. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_UZDDKXnV7rM9
https://dl.doubtnut.com/l/_0bN1TA6vwSkT

1 2 13 14 15 16 17 18
H
He
1 1 5
Li Be B C N /o) F Ne
21 2.1 | 22 2,3 | 2,4 | 2,5 2,6 | 2,7 | 2.8
Na | Mg Al Si P S Cl Ar
3 12.8,1(2,8,2 2,8,312,84[2,85|2,86]2,87]2.8.8
K Ca
4 2.8,8,1/2,8,8.2
Sr
5
Ba
6
Ra
7 L

Potassium atom

Write the number of valence electrons of the

elements in the halogen group.

o Watch Video Solution

11. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_0bN1TA6vwSkT
https://dl.doubtnut.com/l/_FLKq0LNrEFcJ

He
1 1 2
Li Be B C N 0 F Ne
20 2.1 | 2.2 23 | 2.4 | 2.5 | 226 | 2.7 | 2.8
Na | Mg Al Si p S Cl Ar
3 12.8.1]2.82 2.8.3(2,84(2,85|2.86[287/[2.8.38
K Ca

(=2}
=
i)
AMNQ

Argon atom

Potassium atom

The diagram of electronic configuration of

magnesium atom is as follows:

° Watch Video Solution

12. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_FLKq0LNrEFcJ
https://dl.doubtnut.com/l/_jCoY3SlrziBV

H He
1 1 5
Li Be B C N 0 F Ne
20 2.1 | 22 23 | 224 | 2,5 | 26 | 2,7 | 2.8
Na | Mg Al Si P S Cl Ar
312.8102,8,2 2,8,3[2,84]2,85]2,86(2,87(28.8
K Ca
4 .8 8 128,82
Sr

Ba

Ra

(=) wn
AwNQ

Argon atom

Potassium atom

After completion of a period, what change
does take place in the electronic configuration

of the next element?

o Watch Video Solution



https://dl.doubtnut.com/l/_jCoY3SlrziBV

13. Observe the following diagram and write

the answers of the following question

1 2 13 14 15 16 17 18
H He |
1 | 5
Li Be B C N 0] F Ne
221 | 22 2.3 | 2.4 | 2.5 2.6 | 2.7 | 2.8
Na Mg Al Si P S Cl Ar
312,81 12.8.2 2.8.3 2.8,4(2,8.5]2,86|2.87]2.8.38
K Ca
4 p.g.s8 12882

=N t
= jos)
Y o
LbJNQ

. Argon atom
Potassium atom

Write the names of any two elements from the

diagram which do not take part in chemical

reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dg9kRwB3rLJd
https://dl.doubtnut.com/l/_jgHxfvSN4TQU

14. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

|

4 s o0 TN o901y |B/DA

T Iel

|
|
|
\
|
|

Which element is a metalloid? Name this

element.

o Watch Video Solution



https://dl.doubtnut.com/l/_jgHxfvSN4TQU
https://dl.doubtnut.com/l/_bTr8boElF6Mr

15. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

C 34 5 6 7% 91011120 |B|DA

Among 'C' and 'D' which element has larger

atomic radius?

o View Text Solution



https://dl.doubtnut.com/l/_bTr8boElF6Mr

16. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

1 TEERERIERE

|
s V4 s o6 T8 ulolli |BIDIA

|

1
|
|
i
|

M
\

Identify element 'A' and write its electronic

configuration.

o Watch Video Solution



https://dl.doubtnut.com/l/_92UzJH4TuJsE

Questions Based On Paragraph

1. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_1tDQS5K2DqRy

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

State the law on which modern periodic table

is based.

o Watch Video Solution

2. In the modern periodic table, the elements
are arranged in the increasing order of their

atomic number. This arrangement is based on


https://dl.doubtnut.com/l/_1tDQS5K2DqRy
https://dl.doubtnut.com/l/_cRuiaKFiOkBS

the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and
gradation in properties. This is due to the
same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

How many groups are there in the modern

periodic table?


https://dl.doubtnut.com/l/_cRuiaKFiOkBS

O Watch Video Solution

3. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_cRuiaKFiOkBS
https://dl.doubtnut.com/l/_l1ywbhqDaUrd

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

What is the number of valence electrons in an

element of group 1 and group 18 respectively?

o Watch Video Solution

4. In the modern periodic table, the elements
are arranged in the increasing order of their

atomic number. This arrangement is based on


https://dl.doubtnut.com/l/_l1ywbhqDaUrd
https://dl.doubtnut.com/l/_hexYNyQcXyO1

the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and
gradation in properties. This is due to the
same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

What is the trend in the variation of valency

while going down a group?


https://dl.doubtnut.com/l/_hexYNyQcXyO1

O Watch Video Solution

5. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_hexYNyQcXyO1
https://dl.doubtnut.com/l/_sh0ZY7GEx3a8

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

Which pair of elements do you think will have
similar properties?

a. Sodium and Argon

b. Sodium and Potassium

c. Potassium and Neon

o Watch Video Solution



https://dl.doubtnut.com/l/_sh0ZY7GEx3a8

6.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

3 41516 1718 9 10
A 1 | | E G
1112 | 13| 141516 17 | 18
B, C | D F

Which of these is an inert gas ?

o Watch Video Solution



https://dl.doubtnut.com/l/_193ewN2gyqeC

7.1n the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

(3. 1415 el 713 il
A E G
(11 [ 12 [ 13 [ 14 | 15 | e uinuiums
' B | C D F

Which of these is a halogen ?

o Watch Video Solution



https://dl.doubtnut.com/l/_m5jAzl3KajeW

8.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

304 56789710
A . i E G
1112 13 [ 14 15[ 16 | 17 | 18
. B | C D F

Which of these are metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_TZwWOlQGUZYk

9.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

3|4 5[6][7 |8 910

A | | E G
11| a2 13 | 14| 15 | 16 17 | 18
' B C D £

If B combines with F, what would be the

formula of the compound formed?

o Watch Video Solution



https://dl.doubtnut.com/l/_fzk7DGP6fGgT

10. In the following table, six elements A, B, C,
D, E and F (here letters are not the usual
symbols of the elements) of the modern

periodic table with their atomic numbers are

given.
3 4567 8910
A E G
1112 131415 [ 16| 17 [ 18
B | C D F

Write the electronic configuration of C and E.

o Watch Video Solution



https://dl.doubtnut.com/l/_AtUI2GNkqAA4

11. A scientist studying reactions of metals and
non-metals. He knew group 1 and 2 elements
are metals while group 17 elements are non-
metals. So, he chooses different elements from
group 1and 2 and group17

what is the valency of magnesium?

o Watch Video Solution

12. A scientist studying reactions of metals and

non-metals. He knew group 1 and 2 elements


https://dl.doubtnut.com/l/_vHN4fwfUWI6i
https://dl.doubtnut.com/l/_zOhb6aH2kVhI

are metals while group 17 elements are non-
metals. So, he chooses different elements from
group 1and 2 and group17

Name the element in group 17 which forms a
diatomic molecule and exists in solid state at

room temperature.

o Watch Video Solution

13. A scientist studying reactions of metals and
non-metals. He knew group 1 and 2 elements

are metals while group 17 elements are non-


https://dl.doubtnut.com/l/_zOhb6aH2kVhI
https://dl.doubtnut.com/l/_jvDLO41OHT8x

metals. So, he chooses different elements from
group 1and 2 and group17
Name the element in group 17 which belongs

to the same period as sodium.

o Watch Video Solution

14. A scientist studying reactions of metals
and non-metals. He knew group 1 and 2
elements are metals while group 17 elements
are non-metals. So, he chooses different

elements from group 1and 2 and group17


https://dl.doubtnut.com/l/_jvDLO41OHT8x
https://dl.doubtnut.com/l/_OYlqiHu3SIvv

Write the formula of compound formed in the

reaction between lithium and bromine.

° Watch Video Solution

15. A scientist studying reactions of metals and
non-metals. He knew group 1 and 2 elements
are metals while group 17 elements are non-
metals. So, he chooses different elements from
group 1and 2 and group17

write the formula of compound formed in the

reaction between calcium and fluorine.

| |


https://dl.doubtnut.com/l/_OYlqiHu3SIvv
https://dl.doubtnut.com/l/_dkMN7KoPb9Li

& Watch Video Solution

Apply Your Knowledge

1. What are types of matter?

° Watch Video Solution

2. What are the types of elements ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dkMN7KoPb9Li
https://dl.doubtnut.com/l/_8tzJxsVkqLZh
https://dl.doubtnut.com/l/_fqiJXJDILQ9M
https://dl.doubtnut.com/l/_elo5Qltm2VLE

3. What are the smallest paritcles of matter

called?

o Watch Video Solution

4, What is the difference between the

molecules of elements and compounds?

o Watch Video Solution

5. Identify dobereiner's traids from the

following group of elements having similar


https://dl.doubtnut.com/l/_elo5Qltm2VLE
https://dl.doubtnut.com/l/_NLR5kkfpbkDf
https://dl.doubtnut.com/l/_wHuZ6BXy62SU

chemical properties : ‘Mg(24.3),Ca(40.1),5r(87.6)

o Watch Video Solution

6. lIdentify dobereiner's traids from the
following group of elements having similar

chemical properties : 'S5(32.1),5e(79.0),T(127.6)

o Watch Video Solution

7. ldentify dobereiner's traids from the

following group of elements having similar


https://dl.doubtnut.com/l/_wHuZ6BXy62SU
https://dl.doubtnut.com/l/_mFLjbxemzbX3
https://dl.doubtnut.com/l/_na836HGqOcRN

chemical properties

Be(9.0), Mg(24.3), Ca(40.1)

° Watch Video Solution

8. There are some vacant places in the
Mendeleev's periodic table. In some of these
places, the atomic masses are seem to be
predicted. Enlist three of these predicted

masses along with their group and period.

° View Text Solution



https://dl.doubtnut.com/l/_na836HGqOcRN
https://dl.doubtnut.com/l/_13GdNmqMOHI3
https://dl.doubtnut.com/l/_Y3VxgZXfkKSF

9. Due to uncertainty in the masses of some of
the elements, a question mark is indicated
before the symbol in the Mendeleev's periodic

table. What are such symbols?

o View Text Solution

10. Chlorine has two isotopes, viz. Cl-35 and Cl-
37 Their atomic masses are 35 and 37. Their
chemical properties are same. Where should
these be placed in Mendeleev's periodic table?

In different places or in the same place?


https://dl.doubtnut.com/l/_Y3VxgZXfkKSF
https://dl.doubtnut.com/l/_uIBIEOdkYKGk

° Watch Video Solution

11. Write the molecular formulae of oxides of
the following elements by referring to the
Mendeleev's periodic table: Na, Si, Ca, C, Rb, P,

Ba, Cl, Sn

o View Text Solution

12. Write the molecular formulea of

compounds of the following elements with


https://dl.doubtnut.com/l/_uIBIEOdkYKGk
https://dl.doubtnut.com/l/_ZdpgP4OnQA7e
https://dl.doubtnut.com/l/_BWwRLSeOYt19

hydrogen by referring to the Mendeleev's

periodic table: C, S, Br, As, F, O, N, Cl

o View Text Solution

13. How is the problem regarding the position
of cobalt(" 59CO) and nickel (" NI)' in
Mendeleev's periodic table resolved in Modern

periodic table ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BWwRLSeOYt19
https://dl.doubtnut.com/l/_oquJTxs3fIj6

35
14. How did the position of —Cl and 3—70l
17 17

get fixed in the Modern periodic table?

° Watch Video Solution

15. Can there be an element with atomic mas

53 or 54 in between the two elements

52 55

,Chromium and Mangense %Mn?

Cr

o Watch Video Solution



https://dl.doubtnut.com/l/_2V3BpICg5aPc
https://dl.doubtnut.com/l/_LAyJRdGlLSeS

16. Position of the elements in the periodic
table:

What do you think? Should hydrogen be
placed in group 17 of halogens or group 1 of

alkali metals in the modern periodic table?

o View Text Solution

17. Go through the Modern periodic table
(fig2.1) and write the names one below the

other of the elements of group 1. How many


https://dl.doubtnut.com/l/_gbvmT2tpxg3H
https://dl.doubtnut.com/l/_lFhwRQbp4Nyk

valence electrons are there in each of these

elements ?

° Watch Video Solution

18. Write the electronic configuration of the

first four elements in this group.

o View Text Solution

19. Which similarity do you find in their

configuration?


https://dl.doubtnut.com/l/_lFhwRQbp4Nyk
https://dl.doubtnut.com/l/_YmAdXEqtADxv
https://dl.doubtnut.com/l/_MRO4iFiiqg74

° View Text Solution

20. How many valence electrons are there in

each of these elements?

o View Text Solution

21. On going through the Modern periodic
table (fig2.1) it is seen that the elements
Li,Be,B,C,N,O,F and Ne belong to the period -2.

Write down the electronic configuration.

| e |


https://dl.doubtnut.com/l/_MRO4iFiiqg74
https://dl.doubtnut.com/l/_NuUF8adYGjHS
https://dl.doubtnut.com/l/_RsCCkEsYV6JL

& watch Video Solution I

22. On going through the Modern periodic
table (fig. 21) it is seen that the elements
Li,Be,B,C,N,O,F and Ne belong to the period - 2.
Write down the electronic configuration. Is the
number of valence electrons same for all these

elements ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RsCCkEsYV6JL
https://dl.doubtnut.com/l/_AiZGyDxWFYCH

23. On going through the Modern periodic
table (fig. 21) it is seen that the elements
Li,Be,B,C,N,O,F and Ne belong to the period - 2.
Write down the electronic configuration. Is the

number of shells the same in these?

o Watch Video Solution

24. The elements in the third period, namely,
Na, Mg, Al, Si, P, S, Cl and Ar have electrons in

the three shells: K, L and M. Write down the


https://dl.doubtnut.com/l/_tiViTZHGxFXA
https://dl.doubtnut.com/l/_p5ARJaX3raXi

electronic configuration of these elements and

confirm.

° Watch Video Solution

25. What are thevalues of 'n' for the shells K,L

and M?

A.1and 2

B.1and 3

C.2and 3

D.3 and 4


https://dl.doubtnut.com/l/_p5ARJaX3raXi
https://dl.doubtnut.com/l/_fhbta1aQY124

Answer: C

o Watch Video Solution

26. What is the maximum number of electrons

that can be accommodated in a shell?write the

formula

o Watch Video Solution

27. Deduce the maximum electron capacity of

the shells K, L and M?


https://dl.doubtnut.com/l/_fhbta1aQY124
https://dl.doubtnut.com/l/_ym5vUF1nGNKV
https://dl.doubtnut.com/l/_DmbpjOpO5V4y

° Watch Video Solution

28. What is the relationship between the
electronic configuration of an element and its

valency?

° Watch Video Solution

29. The atomic number of beryllium is 4 while

that of oxygen is 8. Write down the electronic


https://dl.doubtnut.com/l/_DmbpjOpO5V4y
https://dl.doubtnut.com/l/_Nr89xOXBC7UJ
https://dl.doubtnut.com/l/_FFhbx8oatIXA

configuration of the two and deduce their

valency from the same.

° Watch Video Solution

30. The table on Textbook page no. 25 is made
on the basis of the modern periodic table.
Write in it the electronic configuration of the
first 20 elements below the symbol and write

the valency below it.

° View Text Solution



https://dl.doubtnut.com/l/_FFhbx8oatIXA
https://dl.doubtnut.com/l/_6iTkgw7bp1ig
https://dl.doubtnut.com/l/_IpHYwXNdpohx

31. What is the periodic trend in the variation
of valency while going from left to right within
a period.Explain the answer with reference to

period 2 and period 3.

° Watch Video Solution

32. What is the periodic trend in the variation
of valency while going down a group? Explain
your answer with reference to the group 1,

group 2 and group 18.

l ° View Text Solution


https://dl.doubtnut.com/l/_IpHYwXNdpohx
https://dl.doubtnut.com/l/_2oSNF0UQiwaS

33. By referring to the modern periodic table,
find out the periods to which the above

elements belong.

Lo

o View Text Solution

34. State the period to which the above

elements belong.

Element O|B C N| Be Li
Atomic radius (pm) | 66 |88 | 77 | 74 | 111 152



https://dl.doubtnut.com/l/_2oSNF0UQiwaS
https://dl.doubtnut.com/l/_OZYg6pz8khSU
https://dl.doubtnut.com/l/_35Kql888A55S

° Watch Video Solution

35. Arrange the above elements in a

decreasing order of their atomic radii.

Element O B | C N | Be Li
Atomic radius (pm) | 66 83 T 77 74| 111 152

o Watch Video Solution

36. Does this arrangement match with the

pattern of the second period of the modern


https://dl.doubtnut.com/l/_35Kql888A55S
https://dl.doubtnut.com/l/_bxX3KxxI3bUl
https://dl.doubtnut.com/l/_10Wmruh1h3GO

periodic table ?

Element O/ B |/ C N | Be Li

[

Atomic radius (pm) | 66 88 77 | 74 111 152

o View Text Solution

37. Why this arrangement of elements is
similar to the above period of the modern

periodic table ?

Element O B  C N | Be Li
Atomic radius (pm) 66 88 | 77 | 74 111 152

° View Text Solution



https://dl.doubtnut.com/l/_10Wmruh1h3GO
https://dl.doubtnut.com/l/_C1zx3GW6EwMK
https://dl.doubtnut.com/l/_aglr3mPKxPCt

38. Which of the above elements have the

biggest and the smallest atom?

o Watch Video Solution

39. By referring to the modern periodic table,
find out the group to which the above

elements belong.

\ Element K | Na | Rb | Cs  Li
31| 186 244 262 151

[
|
‘L Atomic radius (pm) ' 2

o Watch Video Solution



https://dl.doubtnut.com/l/_aglr3mPKxPCt
https://dl.doubtnut.com/l/_uJWJlwbTCMHD
https://dl.doubtnut.com/l/_4hwIXLo3aMH8

40. Arrange the above elements vertically

downwards in an increasing order of atomic

radii.

[' ~ Element

Naij

Cs | Li |

\ Atomic radius (pm)

231

186 l 244 |

262 151

E— |

° Watch Video Solution

41. Does this arrangement match with the

pattern of the group 1 of the modern periodic

table ?

Element

K ' Na Rb Cs Li

| Atomic radius (pm) | 23] 186 244 262 151


https://dl.doubtnut.com/l/_4hwIXLo3aMH8
https://dl.doubtnut.com/l/_11EzfjXFegMn

° View Text Solution

42. Which of the above elements have the

biggest and the smallest atom?

o Watch Video Solution

43. What is the periodic trend observed in the

variation of atomic radii down a group?

° Watch Video Solution



https://dl.doubtnut.com/l/_11EzfjXFegMn
https://dl.doubtnut.com/l/_OCI2LHS7rTi8
https://dl.doubtnut.com/l/_9CVPCBhmaXIK
https://dl.doubtnut.com/l/_S4MRrdfazht3

44, Classify the elements of the third period

into metals and non-metals.

o Watch Video Solution

45. On which side of the period did you find

the Non-metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_S4MRrdfazht3
https://dl.doubtnut.com/l/_qRZi4QaN2Kz8

46. On which side of the period did you find

the Non-metals?

o Watch Video Solution

47.State the laws/ Define

Inert elements

o Watch Video Solution

48. Uses of various elements



https://dl.doubtnut.com/l/_t0esFiD6gpY7
https://dl.doubtnut.com/l/_RwUh0cF3m7qF
https://dl.doubtnut.com/l/_YLQwgJccvqRm

View Text Solution

49, Find out the applications of all the inert
gases, preparea a chart and display it in the

class.

o View Text Solution

Chapter Assessment


https://dl.doubtnut.com/l/_YLQwgJccvqRm
https://dl.doubtnut.com/l/_qfsYAvFQ1x98

1. The formula of chloride of metal M is MCI.

The metal M belongs to

A. group 1

B. group 2

C.group 13

D. group 14

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X2v5TJQjsB5T
https://dl.doubtnut.com/l/_jKduwz52F7hg

2. Suresh identifies three nonmetals with same

valency using modern periodic table. Which

set is the correct one?

A. Fluorine, bromine, sulphur

B. Nitrogen, bromine, iodine

C. Nitrogen, phosphorus, sulphur

D. Fluorine, bromine, iodine

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jKduwz52F7hg
https://dl.doubtnut.com/l/_Gw5qqCmYDtwF

3. Electron capacity of N shell is

A2

B.8

C.18

D. 32

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Gw5qqCmYDtwF

4. |dentify the odd one out justify.

Si, Ge, As, Ga

o Watch Video Solution

5. Name the following.

The family name of the group 17 elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_U5lRDYOaZeL1
https://dl.doubtnut.com/l/_nOACFKE0hKdH

6. True or false. If false, write the correct
sentence.
Calcium reacts with water to form calcium

hydroxide and oxygen gas

o Watch Video Solution

7. Match the following elements given in

Column 'A" with its position in the modern


https://dl.doubtnut.com/l/_FJjQuw6MPZv3
https://dl.doubtnut.com/l/_DxDjouO5ttd2

periodic table given in Column 'B'.

Column ‘A’ Column ‘B’
Group 1 and period 1

- a. ﬂPhosphq_rus
7 b Helium

Group 18 and period 1
Group 15 and period 2
Group 15 and period 3

PRI —=

° Watch Video Solution

8. Give scientific reasons :
Elements belonging to the same group have

the same valency

° Watch Video Solution



https://dl.doubtnut.com/l/_DxDjouO5ttd2
https://dl.doubtnut.com/l/_jCxOWNH4ALiw
https://dl.doubtnut.com/l/_FtV217aOux0x

9. Give scientific reasons :

Atomic radius goes on increasing down a

group

° Watch Video Solution

10. What are the demerits of Mendeleev's

periodic table?

o Watch Video Solution



https://dl.doubtnut.com/l/_FtV217aOux0x
https://dl.doubtnut.com/l/_PLnNCNuv2qKi

11. Atomic size of carbon is less than that of

boron. Explain the statement.

° Watch Video Solution

12. A and 'B' are atoms of two elements
belonging to period 2. 'A'is in group 14 and 'B'
is in group 17.

a. ldentify elements ‘A" and 'B’

b. Which one is more electronegative?

° Watch Video Solution



https://dl.doubtnut.com/l/_xYzB2dmxSQVv
https://dl.doubtnut.com/l/_Qc83gYIaF9bY

13. The atomic masses of three elements A, B
and C having similar chemical properties are 7,
23 and 39 respectively.

a. Calculate the average atomic mass of
element B according to Dobereiner's triads.

b. Compare the average atomic mass of B with
its atomic mass.

c. What could the elements A, B and C be?

o Watch Video Solution



https://dl.doubtnut.com/l/_Qc83gYIaF9bY
https://dl.doubtnut.com/l/_bdDZKVvbt6hm

14. Select the appropriate options and
complete the following paragraph.

(metals, nonmetals, metalloids, four, seven, s-
block, p-block, d-block, f-block)

On the basis of electronic configuration,
elements in the modern periodic table are
classified into block. Groups 1 and 2

elements are included in and all these

block contains metals, nonmetals and

metalloids. Groups 3 to 12 elements are


https://dl.doubtnut.com/l/_bWJXLuIdORtb

included in and all these elements are

periodic table i.e, lanthanides and actinides

constitute and all these elements are

metals.

o Watch Video Solution

15. A part of periodic table is shown in the
adjacent figure.
a. Write the symbol of the element 'B'.

b. Will elements 'C' and 'D' have same number


https://dl.doubtnut.com/l/_bWJXLuIdORtb
https://dl.doubtnut.com/l/_AT6iyeyadsuP

of valence electrons?

c. Arrange elements ‘A, 'B' and 'C' in increasing
order of their metallic character.

d. What is the number of electrons in L shell of
element 'E'?

e. Name any two elements that will have

properties similar to that of element 'A

1 18

] 2 13 14 15 16 17

2 A B| C

3 D E
' 4

° Watch Video Solution



https://dl.doubtnut.com/l/_AT6iyeyadsuP

16. Mendeleev predicted the existence of
certain elements not know at that time. He
named two of these elements as eka-
aluminium and eka-silicon.

a. Name the elements which have taken the
place of these elements.

b. Mention the group and period of these
elements in the modern periodic table.

c. Which one of these two elements is a
metalloid?

d. How many valence electrons are present in

eka-silicon?


https://dl.doubtnut.com/l/_l7ZMMzx1I0xH

e. Eka-aluminium forms a chloride. What is its

formula?

° Watch Video Solution



https://dl.doubtnut.com/l/_l7ZMMzx1I0xH

